
 

WHAT FACTORS LED TO THE CURRENT RATE INCREASE? 

 

The U.S. economy negatively impacts our operating budgets. 

Increases in Water Company road fees and water memberships are caused by 
’s part in raising prices and decreasing purchasing power: 

1. Cost of Goods and Services: I
goods and services for businesses. We pay more for 

insurance  

2. Budget Constraints our 
faster rate than our revenue. This  has made it 

without adjusting 
membership dues or fees. 

3. Necessity of Dues Increase: It's important that we : a dues increase 
is 
running the organization. 

WHY NOW? 

According to the U.S. Bureau of Labor Statistics, 
soared by 6.6% over the same period, marking the largest rate uptick in 
four decades. 
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1 The Bureau of Labor Statistics publishes the CPI monthly, which reflects changes in the cost of living in the U.S. 


